AR OR R B E B

A F A H FRE255£10 8 25H
L ® % = FRREE 2475 HRBEARERRARMEEE (Bls)
T = 4 ATESEERR (RER) BREBIERATE
T F % EERERARCET W HipN
ToOE MO 15,804,000 F  (HEBIKEZ)
A AL E (hEEgy) | B .
drg TR 15, 600, 000
(PHPE TH5 )k 15, 400, 000
KERER 15, 300, 000 YE*L
L REERR 15, 350, 000
fEIR 15, 370, 000
INETREERR *15, 500, 000
W=7 I — 15, 350, 000
H# EL  PRk25FE10 A 26 F
[ SERL - RK26%E3A 13 R }




AW OR wmEFF

AR FE A B FR254£10 8 25 F
T & £ B  ERUEE 52485 HARAEHRACHETE (B
T ' 4 BB L OB R TS o
T = i Fr ESERICET 8 N
T OE M 4 26, 634,000 (BEBEZ)
A AL & sy | B =5
(E)Er HEERR 25, 350, 000
(A HE , 25, 600, 000
KRIEERH 25, 600, 000
LR ER 25, 500, 000
o 25, 350, 000
R | | 25, 250, 000 &AL,
IR MpERR : 25, 560, 000

TH ETL Tk 259E108258 - J
[ FERK WRk269E3 A 188




PR

A £ A H k25105 25 H
L =% ¥ 5 WHEZHEE HE25-15 HEBEAERERAXTEEE
T H % HITE = 7 B8R (=7 B745) B R s Efm T E
T % % B ESERRHET B HhN
F E MM A 5,000, 000 9 (HEHEZ)
A AL #E GimpRs) | W - w=
(RN R 4, 920, 000
RERR 4, 920, 000
TR RO 4, 900, 000
INERERR 4, 880, 000 T%tjﬁL
LR 4, 950, 000
(FAREER 4, 930, 000
TH HL Ypg25% 108258

FERk2691 A 148




AL R OR R E B

A #l E H B SRk 254E10A 25

T = F = FRL2FEE 2625 HREAEMRAERNEFE
T = & ATEH/INERR GEER) SRR B TE
T = % Fr ESERAET #8 HiN
F % fE % 8,553,000 M (MEEIHEZ)
AR & Gitme) | ki
(IR 8, 370, 000
A DA ' | 8, 250, 000 T.Z.':*L
(BT 8, 320, 000
EfeEE a7 ) — b 8, 285, 000
(Pl 3=+i , 8, 350, 000

T AT - TR25F10A25H ]
[ s TAR26E2A26H




A w R & F F

L FE H H R255E10 A 25 B
O o
B F F - EH2EE E25-35 LB AREBRASGMLEER

HOHHH & >
E

%= 2 HIE BFiRe i (RAR) BREBWEMHRTE
= 5 BT FESERRACLET  BRER MRS
E Ol # 2,916,000 (BEBEE)
A KL #E Gima sy | L o

() g 2, 850, 000
A R , 2, 800, 000 ?"%“*L
R LR s 2, 840, 000
(A | : 2, 850, 000
(i) NP R R _ 2, 840, 000

B (FHBAEER & o 4 — 2,900, 000

T 4 [ BT ER254E10H 258 ]
SERE WRkos4E12 8 18 H



A B R mEF E

A F FE A B - k25 10825H
B vas S J 2N

T £ & 5 FERk264EE ETER Mt R B
T = 4 AHARHAEERRTE |
T % % ESEARRT &8 MW
TOE M #% 1,713,000 (HEBiEZ)
A AL & | oumnis |

(h)BF R AR | 1,650,000 PSFL

B 1, 700, 000

EEHFSESE L — 1, 700, 000

(RVE L5 1, 690, 000

(RIA< FEAE 1, 680, 000

N EFRERR ' 1, 680, 000

TH ET - ERR254E108 250 ]
[ SERR FRk25412/ 100




A K O B @ o5 =

A FE B B SERR254E10A 258
£ OB OB omHR
T % F 5 FR26FE RELREHEERE
T = Z2 S AESTE M KA B S T
I %= Y B FESBACET & il
F OE MO 1,692,000 (HEMRK )
A HLE tEms) |

()EF AR 1,600,000 ¥%FL

& R 1, 650, 000 :

LI R A 1, 650, 000

tRIRE 1, 630, 000

IR | 1, 650, 000

{PRRELER , 1, 650, 000

TH | ET SERG254E10A 25 B ]
[ SERKL MERR254E12 A 10 B




